PAT-R: Vocabulary Test Form 4: Answer Patterns

(Percentage of students choosing each option)

Sample School

Year 8
All Male Female
Item Invalid A B (o3 D E Invalid A B (o3 D E Invalid A B (o4 D E
1 0% | 50% | 0% 17% 33% 0% 0% | 67% | 0% 0% 33% 0% 0% | 33% | 0% 33% 33% 0%
2 0% 0% | 100% | 0% 0% 0% 0% 0% | 100% | 0% 0% 0% 0% 0% | 100% | 0% 0% 0%
3 0% 0% 0% 100% 0% 0% 0% 0% 0% 100% 0% 0% 0% 0% 0% 100% 0% 0%
,
3 67% 0% 17% 0% 17% 33% | 67% I 2 e

Sample Report Only

Each row shows the percentage of students selecting each of the multiple-choice options A, B, C, D or E.

The percentage in the box is the correct option.
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